< O O N Py Py T
) = ot Q N N @)
T | G > | Q e | QN
5 | O | ® | £ 2|0
o | o =~ | O 3
Q =. Q Q
-~ o S | @
5 0 - O o '8
Q " . @, -
7] — ® ) 8\
< 319l c| 2|2
— o :
3 = o | 8 L -
= S (@) = P
(@] «Q TD ﬂ o
813 ¢ 3
S |2
o
D
S Q | 2
) © | 3
Q >
2 o
o, 3
3
°g 0,00 — 241 |165,54 | 167,95 %
o 2
- B
(@)]
\l
5°
il
— s
[l c'bn
— BN
— —
o -
= X &
8; ol A 1,85 |166,20 | 168,05
N o 1,90 E _
s U | 4935 | ia7e 1,97 | 166,08 | 168,05 ﬁfol-s';g“- san. #160 Rd=166,35
&) < w J7 K-
~ @) ;\.Z ﬁ
c
| I ©
%2 [N ~
[(e]
g_l ;DU 72,32 |2 1,85 | 166,17 | 168,02 | 4. proj. kan. san. 0160 Rd=166.47
e N SN 4 K-Si1
¥ O
1 [=)
= s N ° L,
S 9232 |5 1,85 |166,23 | 168,08 | proj. kan. san. 8160 Rd=166,56
© el
2¢ n °1 15,00
= 107,32 |8 1,85 |166,27 | 168,12 l( i
328 : , , 3 . kan. san. 8160 Rd=167,1
(o) 110.29 | 2991%| 2,96 | 1.75 |166.38]168.12 . J—> pro|. kan. san. 160 Rd=167.13
S ] K-S12
T
N
= QIR RS
Q cC o
T | G > | Q e QN
o | o =~ | O 3
Q =. Q Q
-~ o S| @
5 0 - O o '8
Q " . 25 -
7] — ® ) 8\
< 3 o) c S <
— o :
3 = o | 8 L -
= Q (@) E 8
(@] «Q TD ﬂ o
813 ¢ 3
5|2
o
D
S Q | 2
) © | 3
Q >
P o
0. 3
3
@go 000 — 2.26 1160.44 1162.70 ‘L& proj. kan. san. 200 Rd=160,72
2N %  S30-S31
-\ & =
1l y
N (&)
= w
(ED 21,53 |& 1,85 116084 | 162,70
—_ I o
.
SN
< 3
S 45,28 & 2,16 |160.54 | 162,70
N o g
T ¥ 14,07 2
= 50.34 |3 1,85 | 160,84 | 162,70 S
8 w 7 o
o S
N 2
()] S
- w
" & 5
S >
= 85,82 |& 1,85 |160.95 | 162,80 2
2 : 3 -°
= N
N
= -
o & ﬁ
cém 110,29 3 1,95 | 160,85 | 162,80 J,, | llifoi-s';g”- san. 160 Rd=161,11
&) o . J 7 K-
o
N
) s
o
b= —
o
é 134,39 'ﬁ 1,85 |160.84 | 162,70
» N o
.i 15,88
E 150,28 (00) nEn 1,85 |160,84 | 162,70 ‘ proj. kan. san. 160 Rd=161,44
91 ] o o K- S41
3
)
=2
W
0
3
-
(l,.!)
<3
E 189,28 g 1,88 161,52 | 163,40 ‘ proj. kan. san. 160 Rd=161,76
2 = {9 K - 542
g S
Bw 0 =
= 3 N\ Y i
3 209,45 |~ 1,85 | 161,55 | 163,40
o E S
- 15,83
E 22528 k4 1,85 |161,55 163,40 ‘ proj. kan. san. 160 Rd=161,93
3 N %ﬁa K-543
— ol <
s N\ | 18,00
~ 5
N 24328 (S 1,85 |161,95 | 163,80 % .
E 246,287M0 3100 1,88 161,92 163,80 proj' kan' san. @160 Rd=162’19
T, = "% K - S44
w r\\ 14,00
El 260,28 |3 | 1,85 (161,95 163,80 j;_(} proj. kan. san. 2160 Rd=162,38
S - \\: 3 K-S45
" £ 13,51
o n ’
s X = | proj. kan. san. 160 Rd=162,51
a A 273,78 : 1,85 |162.25 | 164.10 $ K546
N ;\: 10,63 '
U 284423 1,85 |162,45 | 164,30
< 3 2
O :\\\ 13,86
I 298,28§ nrn 1,96 162,54 | 164,50 proj. kan. san. 160 Rd=162,79
5‘°Q (D [=0,50 I K -847
Py - 16,52
N 5
@ O [315,30[8 1,85 | 162,65 | 164,50 41_9 proj. kan. san. 160 Rd=163,00
© N 4 K-s48
\-ﬁ N v
xR —_—
[l © -
Il @
N
= (00]
s 8 JZ . _
> 38728|% | o 187 116313116500 proj. kan. san. 8160 Rd=163,39
o N "—% K - S49
4N
s = O
fos) T 8 -
s 359,49 | 1,85 |163,65 | 165,50
m 36,8 %o -
367,91 |.=s, 2,05 [163.95 | 166,00 proj. kan. san. 8160 Rd=164,22
< o @ K-S50
& =
w
N
o
n o
£
pan 401,913 1,97 164,13 | 166,10 <£ ~ proj. k 160 Rd=164,39
203.90=1 %199 197 164,19 166,10 proj. kan. san. @ - :
o "—% K - S51
=N
°l W
<
go 426,91 1,85 | 164,25 | 166,10 v - proj. kan. san. 8160 Rd=164,51
o /< 7,55 4 K-S52
3 43446 1,85 |164.25 | 166.10 V.
()] 951 e
= _ ’ , _
o a3 rog— 28 164,92 166,90 - l‘iml-s'gg”- san. 2160 Rd=165,27
8 -
N w7
foe) o
o o
—
é 465,96 1,97 165,13 1167,10 ‘LLB proj. kan. san. 2160 Rd=165,43
© g K-S54
% 18,99
484,99 | 99 1.85 (16595116780 proj. kan. san. 160 Rd=16541
é "‘% K - S55
—_ 14,72
3 S - éi%_ﬁ
© o® 201,66 04195 16585 167,80 proj. kan. san. 160 Rd=165,99
: 509,40 673 | 185 |166,00|167,85 % K- 556
O S
W
=
©
=
(o)}
~
—
—
—
I}
(o)}
~
—
= 576,51 — 50| 1.85 | 166,05 | 167,90 P
© 578,01 == + 7511661616790 |
(@)] R
T
—
3 37|35 > o)
El 815 | § & 6
] zs|s| ° = =
? g|" o
S| -lologl 22 _
S12 | 2l2|3s &R
g2 | 813|935 8¢ w2
2|3 = |lz|Nal 22 [
g |8 o |Z|SN[ 582
= = m I |as 8~m (.D
Elz | g|2|83] &
818 | 2 |5|n8 ce @)
: A EREL —
22|55 23
ozle | €|2(22 &5 Q
z81g | ° (|82 2 (@I
FE| T o |3 |TR| £, )
28|13 | U |=|25| 88
e SIER - o
NIFS 3 — o
S ~ £, ﬁm
=z = %]
z|c I g 3 S
S| i ° N )
8| g 5| B e g
[} 5 @ D
T 2 = Q.
=N [ =
=1 | § 2 8.
2|9 |24 Sl 8
|5 |89 ~ & @)
2 o I ©Q
S = Bl 9 (@I
o =z IB ED hd
£ |03 =




